EARAROBREBRT —5 XN—ZXBISH—F

20226F6H8H (K) 6OEHAH

Rl 3=%C2— HS5R3E (m | mewE - | v wo
[xE%] 15 :600,000H  23&:240,000 @ ~ 33#&:150,000 9 . 43%&:90,000 ™ 5 3&:60,000 M
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= =y SNEF : -4-3- - FEXE (EH)
115|5|FL593—n— 33 gn 1.(3_3).8 4-4-3-3 | 39.7 1 (4_642) $m§§
RIRSSAYF B:FLSTA b W& SHs
=—__ s 3 | JIRE— 1:34.1 2-2-2-1 | 40.3| — 3 433 | BEAEX (EH)
2/8|9 | ERAT ==V 54.0 11/ oy | T
RiZat€AWIY B:NVF oKX BE
Y, t 3 | HWAFEE 1:34.9 1-1-1-1 [ 41.3| - 6 399 | BEBXAE (EH)
3lgl10/ OV ES—T7RT * 54.0 ©) (6) | BN
RE-UR BRZNES—FRT #HARL ASK STUD
3y ~ s 3 | FLEBgX 1:35.2 5-5-4-4 | 40.9| - 7 399 | FgalE (EM)
41101 |VIVIVRAT7A 54.0 ) o | B mxws
RiTx/—>*/ B:9%1> TEEERIS
— e, g KFHEE : ~7-4- - BN (k)
5 3| IRUN CERNE 5 1.(335).7 7-7-4-5 | 41.3 4 :1:23) ok
R:aAN/VyvF— B TFUVERAR—S— s Bk
@ RERN : -10-8- - Fashis ()
617| 8| k=L 4 3 s 1.(333.2 10-10-8-7 | 40.9 10 (333) =l
R:JUA—=Y BIERIYN—-T o &2
<y < p TEE : -6-7- - MesiE—es (E|
717| 7| vamya—~qo v 3| ER 1.(367).2 5-6-7-8 | 42.8 2 (z_;g?) %EE?;% (E®)
RiVIWN—=RF—bt 8:Y39Y3—-IHF ANEIS
o= AR : -3-6- - REHE (F)
8 ) |UTDy RFE—)L 4 3 te 1(.33/74.)3 3-3-6-6 | 43.3 5 :1:93) IEIEﬁf_
Riox—9—U—7 B:I7775 /97 BI77—L4
— N AAE . -9-9- - BENEX (@M
9 6| TIWYIFRF 3 28550 1(,371)3 FH9 022 8 :1_0; I\FRERF
RNV vH—)b B:XOF0F R TJ7—EIT7—L
—n, y—m~, = =i — : -8-10- - WSS (FkR)
10 =P 3 3 Ll 1.(38%.6 8-8-10-10 | 43.7 9 (4:;; s
RU—FHPISIY B:ZY/PARSAT il EER
@ 11— —BERIEI
13—7F— 10,9,2,5,(1,7),3,4,6,8
20—F— 10,9,2,5,1,7,3,4,6,8
BEIES /S 10,9,5,(1,3),2,7,8,6.4
41—7F— (9.10).5.1,3,2,8,7.6,4
0 ILRE
BB 5 100/ JA R 5-9 1504 & 5-8 180F 3ER 5-9-10 760M
B B 5 1004 5-10 310 o 18 520) 280M 3Es 5-9-10 1,630M
9 1309 9-10 740M oS- 1 5-9 300
10 340M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




